FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
LUNA WOOD MEMORIAL BENCH

-* - = = A o~ "i R - v - | -—.B~= 5 = :?j'_t‘.
) 4 d = A,_‘ oy " - — - ——a ¥
g - \ -.’ i ’ 1 .! ’ - o SRR g ~ :
il P : - -~~ = - ' =1 = $




“uas sired ay) UO payJew sJaquinu 8y} 01 Ydrew 1ou op asayl AJuo 90uaJajal 1o} ae J[qe sexod JO JUaIU0D) 8yl Ul Ssiaquinu 1ed 810N

suoddng jeuoBeiq

1oddng juoi

1Sa.1Xdeg

Jeas

sba

‘ON

Buimeaqg

uondiiosag

10

S3X04d 40 LNJLNOD

Pl 1

LUNA WOOD MEMORIAL BENCH

www. ForeverRedwood.com



'9zIS uo Bulpuadap Aten [Im arempaey InoA Jo suoisuswiq ;810N

"(1885 3Y] 0] S$9JR.IQ 93U BY) Yydene 01)
siog % € X .91/

E RN NN

"(sBa] ayy 01 sa0RIq
39Uy ay1 pue 1oddns uo.) ay1 yoene o)
siogd ..% S X ..9T/S

| NANRARRANENRANRRRANRNNRE]

"(sBa] ayy 01 1s3.39€Q Y]
yoene o] / 'sbaj ay1 01 Jeas ayy yoene o)
siog . % ¥ X ..9T/S

‘ON

Buimeaqg

uondiriosag

1S1T13dvVMAYVH

P| 2

LUNA WOOD MEMORIAL BENCH

www.ForeverRedwood.com



“uas sired ay) UO payJew sJaquinu ay) 01 Yydyew 1ou op asayl AJuo 8ouaJajal 1o} aqe BUIMEIq ay) Ul siaquinu 1ued :aloN

suoddns jeuobeiq

yoddns juoi4

1sa.{deg

jeas

sba

NOIL1Ld140s3d

P|3

LUNA WOOD MEMORIAL BENCH

www.ForeverRedwood.com



Step 1: Use 5/16"" x 4 %"" bolts (A) to attach the legs (1) to the seat (2). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

___________________________ 5/16"" X 4 %" Bolts

Step 2: Attach the backrest (3) to the legs with 5/16”" x 4 %4"" bolts (A). Each part has a series of numbers that indicate where to
attach the part with the corresponding number.

5/16" X 4% Bolts

Pl 4

LUNA WOOD MEMORIAL BENCH
www. ForeverRedwood.com



Step 3: Attach the frontal support (4) to the legs with 5/16™ x 5 %" bolts (B). Each part has a series of numbers that indicate
where to attach the part with the corresponding number.

5/16” X 5 %" Bolts

Step 4: Finally, use 5/16"" x 3 %" bolts (C) to attach the diagonal supports (5) to the seat. After that, use 5/16"" x 5 %2"” bolts (B)
to attach to the legs. Each part has a series of numbers that indicate where to attach the part with the corresponding number.

5/16" X 3 %" Bolts

5/16” X 5 %" Bolts

P| 5
LUNA WOOD MEMORIAL BENCH
www. ForeverRedwood.com



' 4 %
gg
£ 177 B v

Y

This completes the Bench assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't
hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 6
LUNA WOOD MEMORIAL BENCH
www. ForeverRedwood.com



